PAPER I—GENERAL STUDIES AND ARITHMETIC

Time Allowed — 2 Hours Full Marks — 100
Group A=50 Marks
Group B-30 Marks

& General Instructions for All Candidates.

Serarate Answer Books 1o be used for Group—. Aand Group-B.

(In case a candidate writes answers 1o questions on Group-B in the answer book
meant for Group—A or vice-versa. such answers will not be evaluated.)

Wrize answers only at the designated space of the answer book. No answer of
a question orher than in the space provided for it shall be evaluated.
It the questions attempied are in excess of prescribed number.
only the questions attempied first up 1o the prescribed number
shall be evaluated and the remaining ones ignored.

GroOUP-A [GENERAL STUDIES] )
i or in Nepali only.

Answers may be given either in English or in BIengalx bt o7 iscrepancy,
s f be in 3 y case o0 ’ 4
' € - in one and the same language. In )
put all the answers must be in o ge. I o ‘
the Board willrelv on the English version only.

All questions carry equal marks.

2123 2R S AN
geje FAF G A7 |

Answer any five questions. ) 10x5=50
{E-R—‘TT'W ﬁ?ﬁﬁ &7"}? \—:E-? TEA (130 “-Ords each)

o4 g wEe S e |

1. What is a vitamin? Write a note on any five vitamuns.
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i (tent. ber of districts, lation. area.
» Wrte a note on West Bengal covering its location and extent. number of districts, population. are

landforms. rivers. climate and natural resources.
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WBPRB/PSI(M)/2018(GSA) (2)

3. Write a note on Fundamental Rights of Citizens as guaranteed by the Constitution of India and

recent verdict of Supreme Court of India regarding fundamental rights.

SIFSR FRm TRl e SiFeh MeRerE AR SRR 93k g oA ATAEITIn olated
AN @B TPt T=TE [ faa |

g foaagm o |

4. What is Tsunami and why does it occur? Write a note on its devastating effects.
AN F 9R @ @b W2 9T RETID Fe 7= G0 {73z o)
A F B A Al 7§52 T G STaEER a1 O |

5. What is plastic pollution? What are its effects and what steps can be taken to avoid it?
‘AfoT @ F2 93 T4 Ft 9 R F & TAE o1 AfSmg w9t ara e
"I UgEN' F B2 TR F h ITEE 7S A qHeTE T TH & F SU™ TH G|
6. What are the causes of Global Warming? List and explain each of them and their interconnectedness.
fam Taereea F1am R F 2 aels FE@ SEwT IF9 9R SIEE AR Tk e =)
forea IO & FRUEES TH? TS FIURED IR 7@ 3f AT HRUGTH IFAE T anE ord |
7. “Manual scavenging is a scourge of modern India”. Please comment.
TEIZA/ 7 RNTAZ LTF SR TSHllo’— @ AT H7AME TS I 7 |
TIAe GE1-TF Ied 71 MYHE YRas! ey §-31 fauad STH 79 qUiF TR |

GRroupr-B [ARITHMETIC & REASONING]

ARITHMETIC

Steps in arriving at the answer must be shown clearly in the space provided in the answer booklet.

Failing to mention the steps will be liable to deduction of marks.

Answer any five questions. S%5=25

1. A monkey could climb 6 meters of a round pole in I minute but slipped 3 meters in the next minute.

Whattime will it take to reach the top of the pole which is 21 meters long?

uﬂaffi?émlﬁﬁzﬁaaﬁcmmWCMGﬁlﬁmﬁmm%mﬁﬁcﬁ3ﬁhﬁﬁmmml
wmmﬁ:zlﬁmﬁmmammcﬁm?

qsafnau MGmmmmmmmﬁmﬁ3ﬁawﬁ@zﬁlmw
@Wzlﬁam@mmmmm? | |
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2.

7]

(3) WBPRB/PSI(A)/2018(GSA)

In a certain product, the profit is 3209

. . % of the cost. If the cost increases by 25% but the selling pnce
remains constant, what is the percentage of profit now? -
Al 96 et e A @agem 3209 1 FATT 25% Tz #m g Bres o3 T2
AT, O QI AT *heTal A1 o »
T TS FHMAS! THH W¥d B GeaH 320% B T F 7391 259 g v 7 A7 g
IREdd TR, S THH Gfavd Ha g2

Of the three numbers, the second is twice the first and also three times the third number. The average

P4
e v
- -

—
ZA
Z

of the three numbers is 44. Find the largest number.
fomB UR ey RS 24afor Bed wze gEafta feaze | feafs Fegm oz 44 20n, F2%- FT05
A 1

et

T 07 GERE T g9 §©7 9YN e 3TN A A3 FEF & T T de g I3

44 WU, d1F e TE TNy goll ST TN |

A 20 litre mixture of milk and water contains milk and water in the ratio 3:2. 10 liters of the mixture
is removed and replaced with pure milk and the operation is repeated once more. At the end of the
two removals and replacement, what is the ratio of milk and water in the resultant mixture?
936 20 1519 74 € Trera fileed 14 € Ted SAAre 3:2 1 #7717 '31R 10 517 foeel & o= (272 27:
At afeam smetfamr g G 25 | oreE @m G faere 94 & TE weeire S ER

TS 20 foTX gudT 9T I U 79I © 3:2 | F99fs ¥ 10 T fFAsfas a7 =gm = giam<d
¥E ¥ faensa agd 7 < gee ufF I8 i | 6 9¢ A< g T UHIE g Aam - 77

In an examination 60% of the candidates passed in English, 50% passed in Mathematics and

\

20% failed in both the subjects. If 150 candidates passed in both the subjects, what is the total

)

number of candidates?
sa ke T=cmdzm T

I AT A1 Tom@ 60% ZLIENTS, 50% e FEH 7 93 20% T =7 :

150 e Ten fara geor 3, O G ARG AR T3 7
B qhea 60% s, 50% Tt faendEe g 9T A 20% fameteE. 78 fauam % vya af

150 faeneiie= gd fawgmr arg wu, 5o faaneiee= Te& wfq fad?

The expenses on wheat flour, meat and vegetables of a family are in the ratio 12:17:3. The prices of

these articles have increased by 20%, 30% and 50% respectively. The total expenses of the family

on these articles have increased by what percentage?

QI G AfFanEa aa o), A 32 SR eafaa T @ha THrs 12:17:3 155 & S ante
o T 20%, 30% €% 50% I 2i14, 1A & AR G 476 FT *zik i =77 7

1 TF TRaRa T 31, WG, Wesioh @ WA 12:17:3 )1 Af2 1 Fafme=4) 2m w5 205 309
#H 50% TR gfg v, 4 gfEaRa W= dIe Hfd T gfs g2
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WBPRB/PSI(M)/ZOIS( GSA) (4)

REASONING
a disturbance in a pharmacy.

e door and crashes 1nto your
continues running

ex and are called to
2 man rushes out th
rtner to the floor. The man then

1. You are on foot patrol in a busy shopping comp!
he front door of the pharmacy

As you arrive at t
artner, a fellow policewoman knocking your pa

away past other patrons through the mall.
«“He stabbed

y our partner rolls onto her side revealing small stab wound under her ribs, crying out,

me!”

You should:
(A) Callan ambulance and imm
(B) Callan ambulance and stay with your partner to provi
(C) Use your firearm to shoot the offender.
(D) Go into the pharmacy to further investigate what the disturbance was all about.

Why do you think the option you chose is the most appropriate one and why are the other three
5

ediately pursue the man who stabbed your partner.
de immediate first aid.

options not the most appropriate. Give reasons for each.

1 mﬁ?ﬁwmmmmﬁwmmmaﬁmﬂﬁamm SRGLSIE BACS (T |
msgzcswﬁmﬁmmmwmmamw, 78 s 9T @R v YT (ST o1 9K
wmwﬁﬁ’fﬁ%ﬂ@wmmmﬁmmﬁwmmﬁw@@ﬁmmmm |

mmmﬁwmmaﬁmmmw@w “g3 @RS NS BRI

ml)’

(A) ﬂﬁﬁfgmmlmﬁ-ﬂﬁxﬁﬁﬁﬁ A T ST TS SETE At T 4 E
(B) aﬁmmﬁmﬂmﬂmwmmﬂﬁmﬂmw

(C) AT ST T T Sl ofF T | |

(D) TS W TELATER T FiTE 78 Fa0e |

Bl T Wl FaEe O (@9 93 TRl @ T A TeE 36 1F W
| 3

: T v
b el
e TTEA | = oS T i % e | GEET)

S HeH! i T e ol
: GRC] :
ard: T FHEH T T A el S
{A) maré
maqﬁ:ﬂmﬁaﬁﬂﬂﬁfﬂﬂﬁg
! HEHAICIE ST = |

(B) 9 sTEIg dienay

&0 Al mufis Ieam a9 T

EE; ::Tém TR R e et e fient e =g T3
T R F e I T T

e 7 T T i
? wga wfgam o feer
|
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(5) WBPRB/PSI(M)/2018(GSA)

2. You are on the street where a man and woman are been arguing loudly and pushing each other
around. You and your partner are trying to talk to each person to find out what has happened.
The best positioning for this discussion is:

(A) Both of you together in the centre with the man on one side and the woman on the other.

&8 Bre

(B) Both of you next to each other on one side and the man and woman next to each other facing

both you and your partner.
( ; ) &=1 P

ONE

(C) The two people in the centre and one of you on either side, facing in. One of you talking to the
man and the other talking to the woman.

P

$
Legend: @ / @ Man/Woman; You/Your Partner.

Why is the option that you chose the most advantageous and why are the other two options not
the best ones. Give reasons for each. S

2. i %81 e (A0S (A0S (R ST SEIEIRE 8 SEIE (R @I @il fraw fc o wares
R O[OS (RIUIPe FI0=A | Wieif 8 Wl A AR AN A T 5V TR AT
TR IV Gl TR | G2, SEAIGAIG T SRR AGIHIF FIATATE ©ITeT SIFI Ze—

(A) SRR &R TRIAA HISIER G QP SUEF GIR TRFE T FOrEm |

@] @
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wBPRB/PSI(M)/2018(GSA) (6)

(B) T T A AT GRS ¢ TEMEANE AR SRR TR A |

ORE
&

(C) @ & TR AT IR SAFTA (@ (FA G AT WS | AN GG SRENTA
AN IR GNEAFE wTAREG AN FA I |

P

P —>(::§ (i)
@ / @ AR /SuAEl; | P AR /oI T

AT S| SRZMD DATAZ 361 7261 | A1 @ 77, feazeied i 54|

[}

2. TR AR SIS TG T Higen 21+ qEUCIE SFR-RET B faua Teh T8 v SEh 7S e S § 9 |
IS A TGN WeHA 1 GESAET TH-T TS 914 TR WIS FRU T 9187 T3 | I8 i
FUEEERl SR HTEn

(A) a9 g dram iy 3 AfA afeen a1 qEuens g5 89w 39—y 9

G0 O-©

(B) Turée® gd 51 UHdfg 2333H A Tien 31 [wuclE A+l B3-SI qUR T FuRH TehHi

Tfe 9@ 91
@e P

&2
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(7) WBPRB/PSI(M)/2018(GSA)

() A nfeen aif1 e stem femf ¢ ; Tz Tl

_ R S Py aif audee wo m 7 i

y11 Hiee . ‘ ; 0% 0 T 77 fags -

Al 3Tl TN TRt FO ST IR -3 AT R

NS
[-& @
W) st e e

g B 3finy ST 5T € T AR I AR A T ST A S5 FveE feerd | 5

3. You attend a traffic aceide
While citr (l::r-;iflllcuillu‘lldu’lt at a four-way traffic interscction. The final position of a black and
The arrows in(lii‘-u ‘th Jelow. The rough sketch shows the damage points on the black and white car.
‘ ate the normal flow of traffic (driving on left hand side of road). North is toward the

|

top of the diagram.

The most likely cause of the crash was:
(A) The white car approached from the north and the black car a
: _ . : pproached from
The two cars collided in the centre of the intersection. the east.
(B) The white car entered the intersection from the west and the black car entered the intersecti
section

from the south. The white car hit the side of the black car.
(C) The black car approached the intersection from the south and turned rj
: , ght towa
The white car approached from the north and crashed into the side of the black ;g: the east.
(D) The black car approached the intersection from the south and turned right towards the egst
he west and hit the side of the black car. cast.

The white car approached from t
Which s the correct answer and why?
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(8)
WwBPRB/PSI(M)/2018(GSA) & @ A G T fercs

offel w7g FACO C ey AL DT
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(9) WBPRB/PSI(M)/2018(GSA)

o () S ST He g ST %0 | e e el 3 el

gmaﬂ
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WBPRB/PSI(M)/2018(GSA) (10)

4.

(i)

(i)

(i)

(iv)

(v)

(vi)

10x1=10

Find out the next number in the following series:

e Biface oo wieanfs fda s
Frafifiaa s Who §7 He 1SS!

0,1,3,4,6,7,9, 10, ?

Pointing to a girl in photograph, Mr. Ghosh said, “Her mother’s brother is the only son of my
mother’s father.” How is the girl’s mother related to Mr. Ghosh?

fir: (a1 936 R 2R RE I “eqR TS S SR WA IRIE GFNG 243 1 G =l
fil: A T™E R =2

=R FE o 2@ fito SRt 373 Sa TR S A SR AR WD A1 R
T fHo Hwe! & = B2

In a class of 29 students, Mahendra ranks 18th from the bottom. What is his rank from the
top?

29 T QG MY TRH AN (AF 189 ZH IR | o7 (AF ©fF TG F© ?

29 BEAEEH TETER =) 18 3f TH e | ) HY W= ATYare i I 3fe?

If ‘white’ is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ is called ‘yellow’, ‘yellow’ is called
‘black’, ‘black’ is called ‘violet’ and ‘violet’ is called ‘orange’, then what would be the

colour of human blood?

I A (@ AT, Ve’ @ T, T (@ T, T @ I, I (T ‘RN 932 @A’
& T 971 Z¥, O4 WNIMCRI 0GR R} ?

A SR’ T g’ sl AR mfeE e @ F T2

If ANACONDA is written as ANADNADN in a certain code, how will MOVEMENT be
written in the same code?

ANACONDA (3 3 Aisigfeasita ANADNADN Rl 28, S@ TRE%FSI@ MOVEMENT
@A EN I

a7 ANACONDA T %% T&7s1 ANADNADN 3@ 57 MOVEMENT ¥ & &9 S8
dfgs?

How many letter/s will remain at the same position in the word ‘LAYOQUT’
arranged in the alphabetical order from left to right?

W LAYOUT *f} ef ]
? T e (A TRt A 27, o Fosf 3 9 el

3R ‘LAYOUT

when they are

NG SONTHAA S Ty v@masﬁaaaqu%mmm?
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(11) WBPRB/PSI(M)/2018(GSA)

(vii) What will be the number in place of the ‘?” mark based on relation of the numbers in other
two figures?

Sp 2Rz R el T I A B @ AR T3 2
%3 FaTees gmEE MR 94 fo= wua @A $7 9o 7

(LN ( (
.6 &) e ) §.<09)
NN OGNS
Gon_2\

&) 11 L.

S

¢ 9 [

(viii) If ‘+’ means ‘—’, ‘-’ means ‘x’, =’ means ‘+’ and ‘X’ means ‘=’ then what is the value of
e 4 W 7, WA X, A 4 GR X A+’ W O Ao T faefa 3 |
AR 4 TR 2,0 WA 0, 2 W 4 A WA 2 WY T U Hearh A frepreg & |
10x5+3-2+3
(ix) Arrange the following words according to the dictionary:
B3 *Riefe Sfeam ST Frem 3
e fe3TH U<EEAR YA IFFER I 9
(a) Trinity
(b) Tool
(c) Town
(d) Twist
(e) Type

(x) Pick the odd one:
AP ey A ¢
e AT B

Edmund Hillary, Tenzing Norgay, Bachindri Pal, Mihir Sen.
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2019
PAPER II—ENGLISH

ks — S0
Time Allowed — 1 Hour Full Marks

Write answers only at the designated space of the answer book. No answer of
a question other than in the space provided for it shall be evaluated.
If the questions attempted are in excess of the prescribed number,
only the questions attempted first up to the prescribed number
shall be evaluated and the remaining ones ignored.

(a) Write on the growing decline of reading habits using the following points:
(easy access to internet — lesser time for books — inclination for summarised versions —
multiple sources of entertainment)

Or,

(b) Give your views on images of women in the media using the following points:
(concept of womanhood since ancient times, stereotyped images of women in patriarf:hal socie
representation of women in films, advertisements, in the electronic and print media, changing
notions about women offering them newer and meaningful roles). 15

ciety,

2. Make a précis of the following passage in your own words and add an appropriate title: 10
As daylight can be seen through very small holes, so little things will illustrate a person’s
character. Indeed, character consists in little acts, honourably performed in our daily lives. One of
the most marked tests of character is the manner in which we conduct ourselves towards others.
Graceful behaviour towards superiors, inferiors and equals is a constant source of pleasure. Itindicates
respect and humility. Every manmay, to a great extent, be a self-educator in good behaviour. He can
be civil and kind if he will, though he may not have a penny in his purse. Even a kind look can
confer happiness. Gentleness in society is like the silent influence of light which gives colour to all
nature. It is far more powerful than loudness or force, and far more fruitful. As Samuel Smiles said
“Sow a thought, and you reap an act; sow an act, and you reap a habit; sow a habit and you reap a
character; and sow a character and you reap a destiny.” (approx. 170 words)

3. Frame meaningful sentences with the following phrases: 5
(a) godown the drain
(b) atcross purposes
(c) in keeping with
(d) behind the scenes
(e) left no stone unturmed

4. Give the antonym of the underlined words in accordance with the contextual meanine:
(a) He was patient dealing with his anger and frustration. .

(b) The invaders laid barren the land they plundered and burnt.

(c) There was despair in the Australian camp following their defeat by Indsa
(d) His miserly behaviour led his friends to desert him. )
(e) The summer heat made her lethargic and listless.

11097
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WBPRB/PSI(M)/2018(E) (2)

5. Translate the following passage into English: 15

(For candidates who had opted for Bengali.)

iR STl Coftet @1 1St At Ceefovet e AfoTs afiat oAfem | GA ot =M% JRTS 2, IR
afe Yo G2t TS LA, ©IER AARE SR Ter ATl T RAEA— oI 5% L el

(O BT AR A | 92 NG ISR S 3 224103 O12 It (& SN0 | AT @A <[Aned 5% (@gieaiid
WG AWE, Ao Ao, IZTe FFwerT g e Re@ dFrl SeslfFEEd & A7 70
wiRe difes

(For candidates who had opted for Nepali.)

B o 7t gl vERelt i 3 W W wieg ol ) e el S Ween W e 9
TN | T TS AT AT F Lgwer N, T HHel A2 IR FqH e G B0 TR A A
A TeHd eThtn T3 TTelt 493 gHl SR e vdas gwd S |

(For candidates who had opted for Hindi.)

it & =0 9T & 98, T Tedt WE o W|Hd T W <08 7T | IS 3951 WHE ° 9% 91d THTE 16
T for 3gH 93 ot At B S B T B &R 3hE Wiy off 3§ o/ R | R AH-9g=EH H 92
TV I8 IW Teel St TRl 9O | 37 IS Ul H ST /41 g1 S0, SIF W 2 Tl o JHA G Tl fard
4 ool 7 TeTE o et ainmﬁmmaﬁ@rrnawmwmﬁm
¥4 @A T |

(For candidates who had opted for Urdu.)

ISV 2K\ e Gl P d T A e i Ltz Ul s
ARSI TN Sy e W'L—L/Juui.c‘_dbr.//b r'_QJ'_ruIJ,,/,-/
fu);"f-c.bjd:’su/()(b’c-(;»u(’L Lu’*' = JéL_L/Vu-U..Lv Heoslaiie .
f.u_ra_\{u: w‘ji“'dnz-u_r;wwt,.z_ﬂg,w_%f /Nulu” -L.UJJ,JL_./ ~u—’
J:J/?fw!rb'?ui’u%u_tz_/cﬁi‘pd'/{ugZ_u/uéul/_-?-ug?_xu/‘a-u:g' -”uc"—f'u-':/"gzdb—?

_._ijnfl _,L' l}ou' 7-Lt"/
v
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WBPRB/PSI(M)/201 8(B/N/H/U)

2019
PAPER III—BENGALI/NEPALI/HINDI/URDU

ks — 50
Time Allowed — 1 Hour Full Marks

Write answers only at the designated space of the answer book.
No answer 1o a question other than in the space provided for it shall be evaluated.

If the questions attempted are in excess of prescribed number,
only the questions attempted first up to the prescribed number
shall be evaluated and the remaining ones ignored.

Use the alphabets X, Y. Z in place of name, address etc if necessary.

Write on any two topics in the language vou had opted with the help of points
given in the brackers within 250 words each.

(For candidates who had opted for Bengali.)

1. e @ ettt 1t [en SRem W1t aferans Foa1 39| 15x2=30
(a) T-RIQ 25 wfeam (72 W, 1, Toa19 {9, 5931 =)
(b) Fr-Serel it Ape! (A3 W, I, Toar RAQd, TSI I@))
(c) TR0 T AL (T (A2 I, I, SR {39, AAETHMI IE))

(For candidates who had opted for Nepali.)

1. Frafafas $1 g favam ==i 1R oa: 15x2=30
(a) TAERY YV T IEH WaER (FA: FRAEA-Tafaw F S-TgHUH FRUGE-WGHU HfdhR T
FISAEE-3I9HER )

(b) forerat stavaEm (Y3 Ry rem-Fa9a qigvenss s G- T 90 e ised
T @S E— TEEHI Y3 NUcee— e favrma dsi— IuHeR— qURH 7d)

(c) TRUfEFH TAAFR I TR TITEE (TF: TG SRIH-3TY  THA T TREE—ATeN-
NEEH TTH-TTEA FellTeT FTY GHer—-Tgael Hogedl T3y Fam—qEs ga)

(For candidates who had opted for Hindi.)
1. ﬁaﬁﬁa@ﬂwmﬂwa%ﬁwmm: 15%2=30

(a) "2 Frm < sl '~ favg w yfiaes fafay |

(Tt e Frram wed Sierg) S IR STAE) R 5= 1)
(b) ‘ﬁmmﬁmm'—ﬁwwmﬁf@w

(HraeT Tifean st saIsa, s, RIS W 9416, Ifeq swmie)
(c) 'wguw i TN '~fa9d W e ferfan

(T, A, SR, FEHW 1 I F 391)

11096
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WEPREESIMUEZ0I8R/N/ 1)

)

(For candidates who had opted tor Urdn.)

v ' _‘, ! . o .
13 2=3 (L'.- AW ),.:F_LJ_, /z.'/,v‘nu K L‘I"h"'U"L!, ‘Q/' I

-

(= 0P b S WA TR T ‘Lf' WAV
(LF N T R D R d""idul"L

("“ clabdnid) |n5u;'n'u.'.'u)l?"i:

(tor those who had opted for Bengali or Nepali.)

(I TRV A § 20
I FaTg TN

A Chinese lady who was ona visit to India some years ago said that she was much impressed with
the beauty of the Taj Mahal of Agra: it she had seen nothing else than that in India, she would have
felt that her visit had not been in vain, She spoke about what even China had Tearnt from ndia, India
had taught the people of China love of peace and tranquility. 1t had told them that they should live in
a spiat of cooperation with the people of other countries: that is to say, that they should help other
reople and not subdue or destroy them, She also spoke of those Chinese scholars, whao had visited
[ndia thousands of years ago and established a contact between the two countries, She felt that India
had always been a source of good not only to China but to the world at large.

(for those who had opted for Hindi)
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(for those who had opted for Urdi)
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